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Abstract

Recently, young men have become more muscular as they become more interested in
physical figure. However, most of these muscular men have fit problems regarding
ready—made clothes. In view of this, this study aimed to develop a prototype jacket pattern
for muscular men.

For this study, five muscular men were selected to put on existing jacket pattern for
wearing tests. The regression formula, in which muscular men body measures were
adopted, was applied to unsuitable parts, especially the areas determined not to be
appropriate in the evaluation of existing jacket pattern wearing tests. After the first and the
second jacket pattern wearing tests, the final jacket pattern suitable for muscular men was
developed.

The results of the study were as follows:

In order to make up for the problem of the loosening of the lapel area, due to the
development of the chest muscle, the chest circumference line on the chest area of the
pattern was cut to be 1.0cm wide; thus, the front length was modified with an increase.
The wearing tests found that a wearers felt discomfort from the tight armhole area, so the
armhole depth was set to be a little lower than that of ready—-made clothes. A muscular
men needs much more extra quantity in this area because the upper part of the back side
is projected due to the greater development of the frapezius muscle and the delfoid than
in average men. Hence, concerning the standard line for the length of the back interscye,
ease of 1.0cm was added to the regression equation formula {(0.371xchest
circumference+3.145)/2} in order to resolve the discomfort with the back area. Also, for
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In order to solve the problem of discomfort from the

muscular men(2]& Y4), jacket pattern(FH2/IHEL), regression formula
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L
narrow neck area during the wearing of a jacket owing to the development of the frapezius

muscle, extra ease of 0.5cm was added to chest circumference/12-0.5cm in the existing
jacket prototype to the width of back of the neck, and it was corrected to be chest

because of the development of the delfoid and the wpper arm muscle, and it was set to
circumference/12.

the biacromion length, the upper arm protruded more than the shoulder point of the jacket
be wider than the actual shoulder.
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0 2= <E > 200 IENe 2= o 2. JIENZEE
HXI 288 Y4 HRO HZHEI HY o
C o2 o & o 2 HR)As SIS DXl S HEGY
Ch Ol248t CIXIQ!I A 0|R= 20~34AH Ay &
<H 1> oAE IEN2 oHNESAEX 28 Y49 HAX| Hlw ]
(S+21: cm, kg)
= x = 9 228 A9 HEPY, ERY R EP EP
B B HAX = (E=HX) A C D
L 178.61(£3.5) 180.3 177.0 179.0 180.0 181.5
=227 74.40(£6.9) 80.0 74.5 75.0 79.0 78.5
=29|=0| 151.64(+3.7) 154.0 150.7 153.8 155.0 155.0
HE2ZT 13.30(£2.2) 15.5 14.0 15.0 15.5 15.0
2oy 42.92(+2.5) 46.0 41.0 44.6 45.0 45.0
tsEY 105.18(+5.6) 110.3 99.0 104.5 110.0 109.5
CEEE] 76.80(£5.5) 82.0 76.0 68.5 81.2 81.5
MR EEE] 79.71(£6.7) 85.0 78.0 70.0 85.0 85.0
EENER] 97.71(+4.5) 102.0 96.0 100.0 99.0 99.0
ElEIER 60.58(+4.0) 64.0 55.0 55.8 58.5 58.0
HEasy| 45.13(£3.2) 48.0 46.7 48.1 48.2 48.0
OIIHAROIL0] 45.94(+2.7) 48.0 46.0 47.0 47.0 47.0
HE S HALOI20] 42.20(£2.9) 45.0 43.0 44.0 43.0 44.5
HESS|FEIE A0 20] 40.71(£3.7) 44.0 41.8 42.0 44.0 44.0
S ALO| 210 36.27(£1.9) 38.0 37.4 37.0 38.0 38.0
HESHEBIFALOIZ0] 37.43(+2.5) 39.0 36.9 39.0 39.0 39.0
S210 43.95(+1.8) 453 45.0 45.0 447 454
210 60.00(+2.2) 60.0 58.0 60.5 60.0 61.0
212210 25.50(+1.5) 26.0 24.5 26.0 25.5 25.6

<3 1> JIEMAY NEY -4 HEET, pp.98-109.

139



o
—

oA 1E2 'O

=
o

ZIH|

IE

pS|
o

=)

M132 4

LIA

ES

S0l FHE H
oIl H=0ICH.

kil

o
k=)

A

S| o) EER BB QMW@MN WNSwmmDAB W) mB B
,EOMMJ o) RO ®WMEITRI VBEHGED o0y W R

! o 8 _ W Srollf "R _ T -, U I m 0
10 U0 ou sohEsa SRV “sTadefusy Tw
aeﬁ._m_uﬂﬂ _,o%m._JE%Sﬂwm ol_aurommﬂam%ljrw_ulag i =
o oy .M W~ HososmgnE Toobmpx D2y UM
2L - <ol B _xl R 4 RMITG m ot
SROB o -0 e S s o mor g Ml M
Sl D@ m e %oy _ 3 Cg R Tmos T8
-2 o ol . y3®t =02 ¢omunT o Awlby VS
RO o oor BnRIgRE gl g =% _ g 3Wgp KR
© o ol HERBpwyg e yI AW SSE Za
Yo e Ky S S =gE R PR
W W I g md e 35 B 5 o= o K

20 - e S 3y 2 dl Uil T T g oo JJ o
RO B O =3B o 0 ogy s 16 0 KO o - mnu_Ln__A_ﬂ
oo o W & oWg oy gl TmaRrROR T &R
EU T R Cm=omS =naosyg® Y SZTRR4RIR
oW FHWEzrH " st apEow N A
830 = o oy 1D Mo o W= e o 3% XM B ] w0 Bpy 3y wy KMoy <
o no&%y FH whLWBpESoY Bapgsgup = o g
N WY 5w g on  E2EROL TS R TRy PE W
or = Bl = L N V= [ | <F = E= e
O R L A AL S <= L B - R TR 1T i R B
Ho Ry 1S [ L MR S Bl ac Ol ol <P X OF o3 &~ 3p B X W o of &=
o Wmgom® < RoaCoE T RIMIBH TS WS o R
o RO K WM HH FRAIFIccEW=RS ~
=} T =Ttsagm 2 WA SR @ PHNSITTs — 0FA ot A
= T oof w0 X o, 0RO g =TS MR RU P o WD
~ = =[O0 ol g 00 = =T = oy K0 =g 1] ) KO s
— S o SR I .Dr._I_A._ﬁ.rm|Jx.ﬂo_._a.reo.,
=0 ™ WMA.I_U.& N € 0 g <V = Bl zr W = 00 UV ST R oz omp OV <M
0 T T ==} o G R S ey
v 3! = = 0 ) Eo i U &r 100 1ol _x__| = = :.o.._ -0 ol =< ﬂﬁ
o Barglwd 2 fsRwass ST BWOR @

= ~ _ = B} —H o pmsmdygR D
51 2E_EEE%%O_E% 0 %wogem;oﬂjﬂmzﬂ_ﬂﬁﬂ
%0 Aw Y Mo = S R m WMy s S A
W Rom " Joom U M= GARS g kY TR
= f._A.o\Aw__v_____lTNmo.rmMa% 0 \_:H___\_:Mﬂ|=__=_m5%ramw§w:_m&oﬂﬂ
= ohs Do E® W o s T T o wy ek RS
33 Eoe xS 0 BTy S ®w A, o7 0o
> B s R g & Ao W oW 3w
0 ﬂEOHW____%mM__%x_. e o,,E_u._ﬁ.r.r:m@A:a_'E\Elelﬂ
™ 5 R = oo — . o) o) om S ﬁTxS.LlUluro.
] b0 7 T B3 = w — o 3 00 = _ mr o o5 ol Mo =
2 T WE B DA = L T B R
WM WE s =R W o w o — Mg Moo RS oo
w0l BMmWUpprasms o BB E0S0l0y gz R 0o gy
) oA mommaomu 2! AaMo__ran_xDm___:'Em._Mour4H @l
a3 . Ol o 0 sP 6w o L TRELARS WS 5
™~ 35 ™® R N ok e i) BN B w® —~ R of RO W ORM B o oo .
= O S EOl W wIT AN H RMSR Ro 0\ T TR IO

tCt et

HEMZE ¢432 HRE SIHAD

(¢}

b

=

SAHHCZ ‘RY
o

F=0l O

S
t=)

ds Sl

0l
140



X o
" X 0
ol =) |
= 8 ROT 0
w0 = K W o I o = @
o orow 3 W weHT I ol JJ o
I S = SEEutiiautm
RM o) - a1 o m = aowo__m
w0 W gy o = M.&MATQMEmizZ_lE nE m4s
Z _ 5 i I 0 D5 Pk Hr 2 o T 6 <o &
<u Mozi or oJ K E_\o||ra& I|_O|_L_.N [ — ol o o
a1 == pIFT SR 5 & TR T o = ol
2 = 7 —_ 5 ¥ I T gy of B0 O A 8wy =
" o W 5 = OO I wn B .o JPxo M<o__m.moﬂ
aoard B @8R %MOEFJT___I____;TU.E: mﬂ__of_# prﬂlﬁ__m
o 0 o = = Hffasan a|ﬁ_gm|ﬁm moR =G =
:i ] _Iﬁ__o.dal ju___u_umolmwl yLl.aHHLIEO._Ll .A_.._.o__A mm_x_vm._ﬁ_:_eo
= o o= m_»o, HE_fTA_Jfo“__oW < R0 A_|:.|+%~
n o) B X0 0 = KM & B3 < Ko - RO=Y RO KM K — N 100 N
T = K =55 »muéoam,rf_o;&__o R O__ra__gpm_x2
5 o o 5_ x;;_i___ﬁ_mﬂu%mmjo;ﬁw g 9MA=_uo.mma S
& w g == 84 Aﬂxgmeo_@uuzgw_;%r. a__o%mEM|+a.o|_
®r o®w = H.M__aoEno molmo_x_.wﬂmﬁo“_ umm_cl.,mc_.o__.LE. __kaa._mﬁkfo__gﬁhamsomm
N X R =™l K 50 MEnd 1 o = oF W o= o o < F XA or oo B 5
~ = N ?%ﬂgho_oMEinM,am%E@ Mw_m4p_gL}¢E
= = o 83 __Qzﬁm_mwﬂo“_ __ooo_rroa_ll_mu_Lum_Aﬂ E_Eagxo_u“_a\_u]ua._&wqﬂ
Ko @ﬂﬂ&%ﬁm_:gwgwm == ﬂéw_<m1o_w£
o E_HEmMa_ll__mréﬂ:: Uy o Elm% N
o I xsmmuowomw A_Dﬂxsﬂgmh__raifm
o xﬁ#@_ﬁ.;roxlﬁgmu__;ni_gﬂ ﬂ__z__%xaammol_o_ﬂw
0 Wi _oﬂic_oxlaé__d P LOﬂmATL
= kIl io0 S ok Uk = _nf||rmduﬁ.vnH B
10 ol ® o J = ) _L]_.:._ﬂ_: I
Eal g W gHr o = 9o_AmM%L_E
) - S92 =
= ) B el N U & SfoE T,
a7 el o3 wmmfﬂf%mmrp ~ o0 o
d_ | o z__koua moMoD___mo uo_ﬂAéiml
o e 3ﬂmaa§%m§%wgwggg
+ oK gg%wﬂﬁgg%gmm+meaiﬁxem_ AR
A0 o UM o &3 s @ N om ok
& - o E-ED = oG %EEEZEM o oF U0
= SR weagmﬂmwg,Mmmgw%mlﬂjgoom_>. ~z 0w
) Ty <u MEOT_.O, EWMFLOJNHAuwkEOHo,Q A.,E._:.IM
Lo t 2 meAT_ZWﬁG;Em_Wcmnmw mr,f.uamoﬂ@ ~ — 0l
KM St T s Y w al * ::Lo: EW,L_%P J . i 0
b 8] E%A_%Eﬁm_:.d__:_HHLdﬁgﬁém_om%%mmﬂc ve it
) ol = mr w0 & AI__mISE% H o 8 X 35 & o
fal = ~- - o_.=_, |OH_O,O\_m.ro LIﬂlLID‘_m.AI ._L. .
> o ol o 5 R & o o =d ~ S - %PE O_Eh_uaA
0 5 = A B 5 5 mr.o_fie| .@HE_OM|;HEJ A
20 5 Ko E0 %éﬁou,4_|,§ol.ua MH%H_ wﬂﬂo_ﬂ_o_@_o oo 5 2
@%M = 2 i:vﬁﬂ&%#domao.o..u._ue_u._ﬁm_._mgxﬁ&ﬁjﬂizi oOaMmlMum
%@ . o m;ﬂ“‘ﬁ4m+e%%§$woo_mmﬁaoogu_o . w2 2
- = K Q) ,1,|_MaHAEE.ELDE::%FEEJH% ~ 'o_mum
- jx%%4%mggg@wEMEJW$mu: 2 58u3
i - K = = = U= R _3 < 1 A
ﬁQMmA_EﬁJJm OED_AOMOI_MIWOEHL Jo _zo,o_DD
00 "M.__\ I|.~I E._ a1 T oF D_'._ ol U RM= _ S T @o
o 0 W O3 E.uﬂ._ummo|_|w_ i) m_QDA_xﬂ
_EH:_|m=_o:_._l.,Oo_| pr o W o
0~ S 5 ¢ (] 0 of
S X0 H ok o _ o | B Hio
5] N _u___m_u_%__%
mn = =

141



A ELUA K132 43

<E 2> J|ENAJE 822 X 2AN 2 &HOHEX 0o =2 =98 28 2
Hols= Ha+EZEHI K& E
1. € &0|9 ¢, 22 22ld AXle HIstf? 3.4 + 0.699 0.150
SEHE)| 2. €0 Loty SSA0| JUA=IH? 2.6 £ 0.516 0.031
3. ASA0= HMEEIH? 2.0 £ 1.054 0.007**
4. HESAEA0IZ012 Hee HYSEH? 3.0 = 0.000 -
5. 2ts=dle HEIF HEEHI? 2.9 + 0.316 0.690
6. 2olcl=dle HIF HEEHI? 3.0 = 0.000 -
7. dHH0I=S ORI I SH? 3.0 = 0.000 -
S (e 8. LOIMAOIZO0IDF O &tIF? 3.0 £ 0.000 -
9. YAS R0 ZFE0| MI|=It? 2.4 + 0.699 0.007#*x
10. =24 HIJF H{EEHIF? 2.5 + 0.527 0.007**
11. 220101 W EHot? 2.4 + 0.699 0.007*x
12. 28 220101 o™ stot? 2.6 + 0.516 0.031*
13. &2 MHMAHC a2 ’.;SDW + 2.5 + 0.527 0.007**
14, ASSEFIHEA0IZ20l12 Hges HESHL? 2.1 £ 0.994 0.007**
15. SIS Ed0l SOt 01[[130}? 2.2 + 0.918 0.007**
16. Floicl=do HRIt HTEsor? 2.8 + 0.421 0.309
17. S 0I=d 0 (IRt (HIEED? 2.5 + 0.527 0.007*x
18. FIHIMAOIZ 012t ™ &HOr? 2.6 = 0.516 0.031%
19. F=2U4HIJF 0@ EHoF? 2.4 + 0.699 0.007#*x
S (s) 20. S S201JF H[EStot? 3.0 = 0.000 -
21. FI8ES 220 20l MI|=04? 2.3 £ 0.823 0.007#*x
22. FIHMB A B2 2.9 + 0.316 0.690
23. SOt AZZ20| g2ei0l & AHEsIi? 2.5 + 0.527 0.007*x
24, FAFLEZ0 =HFE0| MI|=I1? 3.0 £ 0.000 -
25. S201I9F HESHor? 2.2 + 0.918 0.007**
26. S A Z010F HESHoE? 2.8 £ 0.421 0.309
27. §1o MAHO A2 E2I1? + 2.4 + 0.699 0.007**
28. ADjS 28 222 HEAEII? 3.4 + 0.699 0.150
29. ADAAE HnES2 HYEH? 3.0 = 0.000 -
30. A0AMHE HgE2 MYEH? 2.5 + 0.527 0.007*x
31. ZEd 2 6R=s HHESHO? 2.2 + 0.918 0.007*x
32. ZAEX=AS = HMEHI? 2.7 + 0.674 0.309
A0H |33, EEXEY FAXlsE HESEHL? 3.6 = 0.699 0.007*x
34. =252 0re S 3.0 £ 0.000 -
35. 2020l O{MEHr? 2.8 + 0.421 0.309
36. A0S MUH2 HSHI? 3.0 £ 0.000 -
37. SEAMS & 2N fAXl= HEESHor? 3.2 + 0.421 0.309
38. SEAMS F 22N fAXl= HEESHor? 2.7 = 0.823 0.307
39. QO AN AX= HESHIH? 2.8 £ 0.421 0.309
215 40. DX2telo 2xle MY 3.2 + 0.447 0.031%
41, Zt2t9] 3D|= HYSHR 2.6 + 0.516 0.031=*
42, SHEIO] FD|= MYEHIN? 3.0 = 0.000 -
=7 43. SS9 FHMFOl &A2 E2I1? + 2.1 + 0.994 0.007*x
- 44, A0S HAFOl 222 E2I1? + 2.3 + 0.823 0.007*x
* p<.05 ** p<.01  *x* p< 001
- AL 25 2RI EEX] 322 HIHE)
+ 0 A HOEX 52 HEE 5

142



BHA - 242t/ 25 248 B HELHA
<E 3> JIENMAES SHIISEEI 20t
Zoias YR+ BEEBT
. B2 202 90 2BHUS If HSLe? 1.4 + 0.548
2. B2 ¥OR 90" S M HELS? 1.6 £ 0548
3. B2 YORZ 180° BYUS [ HABLS? 1.2 + 0.447
4. BZ QOZ 180° BYUS I} HSLE? 1.0 + 0.000
5. F B2 YO 0 IS [ S22 H8AS? 1.4 + 0.548
6. 28 Al ASR9 H2AS? 1.6 + 0.548
7. 28 Al JiSR9le Hgue? 2.0 £ 0.707
8. 28 Al HiF9I HBA2? 8.0 £ 0.000
9. TS QEX ORI SABUS O HBAS? 1.2 + 0.447
10. 22E2 2% oS0 SASUYS I ABAS? 1.2 + 0.447
1. SHEOE HOISI}? 1.2 £ 0.447
<E 4> JISSYS MBS XA
(&1 cm)
a= EEEE CEESIN =X | 2BX | A
ts U 0.557 0.335xJt&Ee8l-1.403 | 33.90 | 33.84 | 0.06
EPJEIEE] 0.73 1% 0.333xJI&Eal-3.984 | 31.00 | 31.04 [-0.04
5l2l bl 0.603%x 0.250x IS =81+0.868 | 27.10 | 27.17 | 0.07
EEBIIEE] 0.386% 0.559x JtSEa-9.592 | 49.20 | 49.21 |-0.01
IIEEM 0.424% 0.214xJt=Sal-1.635 | 20.80 | 20.87 |-0.07
OSSN 0.504%% 0.245x IS5 Eal-3.260 | 22.50 | 22.51 |-0.01
EEE 0.536%+ 0.249xJtSE8-6.822 | 19.40 | 19.31 | 0.09
EPJEE L] 0.822%%x 0.993xJtSEa-2.834 | 101.70 [101.63 | 0.07
slelsa 0.658%x 0.803xJISEal-7.631 | 76.80 | 76.84 |-0.04
R 0.576% 0.904x IS EaI-15.385 | 79.70 | 79.71 |-0.01
EENEER 0.422% 0.523xJt&Ed+42.659 | 97.70 | 97.68 | 0.02
EENEE 0.439%%x 0.529x Jt&Ea+45.156 | 100.80 | 100.8 | 0.00
ZEREE] 0.576% 0.431xJISS8|-0.204 | 45.10 | 45.13 |-0.03
ST SA 0.654+ 0.430xJtS=2-9.293 | 85.90 | 35.94 |-0.04
BELEE 0.598%x 0.424xJISE21-6.506 | 38.10 | 38.10 | 0.00
LBISAUA 0.448%x 0.163x IS5 =dl+9.755 | 26.90 | 26.90 | 0.00
O JHAFOI Z O] 0.402% %+ 0.310xJt&Eal+13.361 | 45.90 | 45.97 |-0.07
HE 2 H HAL0I20| 0.500%%* 0.371xJtSEal+3.145 | 42.20 | 42.17 | 0.03
HEZSIFE S AOIZ0l 0.530% 0.482xJtSE8|-9.978 | 40.70 | 40.72 |-0.02
SHE~-AANCHLFZ01[  0.024 0.045xJt &S +14.878 | 19.60 | 19.61 |-0.01
* p<.05 *x p<.01 *** p<.001
2 g=250 R2S AHEM, FISSUR= WO
0.822), FIt&UHI(R==0.731), 5I2|SaI(R==0.658), Ol&to] ZI2 R0l JISSUE SYHAZ 60
S2ILHI(R=0.603) SO0l =H UEHGD, BFE~ Y FHAS 190 F=200M p<.001, 1 &2
ALHEZAFA0I(R=0.024)= HIDE Wl LIEH OlA p<.05 +E2 K240l U= A2 UEHTE
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UBIMOZ R0| 0.400 0lA0IB A0l =2 % ASHUS (1o SHE~ALHCYLEA0| B2 H
o2 2 & Ut T2l SHF~AUHCTAEL  DOM ASS FIX 2 B ol 2L
0l 822 R0l 0.0242 RSHE 270610 p<.05  0.011 0.022 UEHE A2 A=X BR0| IS
+%0| RO40| Y= AOZ LEIL JSHEN 2 = 10520, SHFE0IE 151,609 X4 K01
Q3 N4 o)l Flol = FHAIS ASoHE 2 WDl H20 UEL Z2DY 2 S)xozs= 2 9
0l JIsBg 2 4 ULt DIZ LEINXI =0 12422 =2 S0 1%+
TS MSA0I0 B SAMS 2B =0
Lt SHES012 AES TA &4 S MBS IAZTAS HE5H0I SEGIUCH
SHNS0IS SYHLZ 50 HHE FAAD SHES0lE Re 20l O 21 p<.001 2Z0IA
01 2eiE SCREEHS, ASEX, FEX UL RS0 s AOZ UHWICSE SHEE0E
Of CHEF ZIH= <E 559 ZCh SYHAR ANBHS [ SHE~ALHCLLE
1004 201 25 Fat0l p<.001 +=0IA ROsH 20| 822 2 A0 ZEots 20| BYotth
202 LIEHL 0] SIAZHAS 90IJt Y 207
hA OFsSICh 2+ B0l T2 RS 0.934~0.078 2) s
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ASHFN 2R XS Fob] ?ldl = FENE gojs 210z uau AHZ JHSBEII0N 0.207x S5
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13. 2o dMHel a2 KOJP? + 5.0 £ 0.000 -
14. ASFHEA0Z012 s HOEHI? 3.0 + 0.000 -
15. FotS=dI0l 0=t 01[[130}’? 3.0 £ 0.000 -
16. Fioicl=dlol 4=t (@8t 3.1 £ 0.316 0.690
17. F1440I=clloll 6=t (I8t 3.0 £ 0.000 -
18. FIOIIHAIOIZI0IDF O [EBHIL? 3.0 £ 0.000 -
19. =SB HIT SO 3.0 £ 0.000 -
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